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(English Version)
Instructious :

(i) First 15 minutes are allotted for the candidates to read the question paper.
() Al questions are compulsory. Marks allotted to each question are given against
i, ' .
(iii)  In numerical questions, give all the steps of calculation.
(iv)  Give relevant answers to the questions.
(v) Give chemical equations, whereqer necessary.
L. Four alternatives are given in each part of ‘this question. Choose the correct
alternative and write it in your answer-book.
(a)  Number of moles in 180 gram water is :
(1) 180 (i) 1000
(1) 100 (iv) 10
(b)  SIunit of p (rho) is :
i) Om (i) Ohmm™
(iti) Ohm™ (iv) cm™!
(¢)  The unit of velocity (rate) constant for a second-order reaction is :
(i)  litre mol™! second™!
(i)  mol second™
(ii1)  litre second™]
(iv)  litre mol second™!
(d)  The co-ordination number of Cr in [Cr(C504)3]* ion is :
@ o0 (1) 1
(i) 2 (iv) 3
(e)  RMgX and water regqt to form :
@ RR () RH
(i)  RX (iv) ROH
347 (GB) 5
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(f) 2° Amine is :
(1) H- NH,

R (iv) R>N R
(iif) N-H iv -
R> R

i) R—-NH,@

2. (a)  Differentiate between Molarity and Molality by giving examples.
(b)  Is oxidation of Bromide ion into Bromine by Ferric ion possible ?

(E’ =0-771V and E_ - =1-09V)
Fedt/Fe2* Br2 /Br

(c)  Explain velocity (rate) constant of a reaction.

(d)  Why does the +3 and +4 oxidation state of Cerium (Ce) atomic number 58

remain stable ?

3. (a) Explain co-ordination number by giving an example.

(b)  Write structural formula of primary, secondary and tertiary benzylic

alcohol.

(¢)  The boiling point of alcohols increases with the increase in thé'nﬁmber of
' carbon atoms but why does it decrease on'increase in branching in“alcohols ?

(d) Write a short note on RNA.

4, (a) Explain the mechanism of electrophilic substitution in haloarenes w1th the
help of an example. 3

.

(b)  Differentiate between elimination and substitution reactlons in haloa]kanes
by an example.

(c)  Write chemical equations for obtaining phenol from the following : °
(i)  Chlorobenzene
(i1)  Aniline
(iii) Benzene

() Write chemlcal equations of the fol]owmg reactions :

(i) Rosenmund reduction
(ii)  Stephen reaction

(iii) Gatterman-Koch reaction

347 (GB) 6



8. : .
@ Explain molar - conductivity. The resistance of a cell filled with

0-02 mol L Ky solution is 480 Q. Calculate the molar conductivity of the

solution, (Cel] constant = 1.29 ¢m™!) 4
() Explain first-order reaction. The value of velocity (rate) constant k for a
first-order reaction is 55 x 107571, Calculate the half-life period of the
reaction. 4
(e) Explain lanthanide contraction clearly and give reason why many
tompounds of transition elements remain coloured. ¢
(d)  Explain Valence Bond Theory (VBT) in coordination compounds. 4
6. (a) Define Raoult’s law. Establish an expression for calculating molar mass of
solute on the basis of this law. 5
OR
Explain the reason for depression in vapour pressure. At any temperature, the
vapour pressure of pure solvent is 0-745 bar. 0-5 g non-volatile non-electrolyte
solid was dissolved in 39-0 g solvent (molar mass 78 g mol™). The vapour
pressure of the solution so obtained is 0-740 bar. Find out the molar mass of
the solid. 5
(b)  Write chemical equations of the reactions of five methods of preparation of
Aldehyde. 5
OR
Explain the mechanism of nucleophilic addition reaction in aldehydes and
ketones by an example. Write chemical equations of the reaction of Aldol
and Cross Aldol condensation. 5
7. (a) Write resonating structures of arylamines. Explain why arylamines exhibit
pasic properties. Write chemical equations of the reaction of preparation of
Amine from nitro and nitrile compounds. 5
OR
. 7 PT
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Write chemical equations for the following : 1+41+1+2=5

(i)  Gabriel Phthalimide synthesis
(1) Hoffmann Bromamide reaction
(i) Carbylamine reaction

(iv)  Coupling reaction of Benzenediazonium chloride with phenol and

aniline
(b)  Explain the structure of Nucleic acid and its biological action. 5
OR |
. 1 1
Write short notes on the following : 2 > +2~§=5

(1)  Vitamin

(11) Hormone



